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Choose the correct option for following questions. All the Questlons are

Ql. compulsory and carry equal marks

1. What data structure can be used to check if syntax has balanced parenthesxs7
Option A: | Stack i ~ :
Option B: | Queue
Option C: | Tree
Option D: | Graph

2. What is value of top variable when stack empty
Option A: | 1 '
Option B: | -1
OptionC: |0

| Option D: | Null

3. Each node in a singly linked list must contain -------- Fields:
Option A: | Three fields ‘
Option B: | Two ficlds
Option C: | Four fields
Option D: | Five fields

4. What is value of front variable when simple quecue is empty
Option A: | -1 \
Option B: | 1
OptionC: |0
Option D: | Null

5. Identify the right traversal order for post order traversal
Option A: | LEFT-NODE-RIGHT
Option B: | RIGHT-LEFT-NODE
Option C: | LEFT-RIGHT-NODE
Ontion D: | NODE-LEFT-RIGHT

6. Which of the following is a non- linear data structure
Option A: | Arrays
Option B: | Stack
Option C: | Queuce
Option D: | Trees

7. Whai will be postfix of following infix expression: (9*7)+(6-2)

| Option A: [97*62+-

OptionB: |97*62 -+
OptionC: |9+7*62-
OptionD: |97 %6-2+

BC33584B094892E4D8SARG07FIETIALTB

1}lPage



8.

Breadth First Search is used in

Option A: | Binary trees

Option B: | Graphs

Gption C: | Stack

Option D: | None of the above

9.

Which sorting algorithm works on Divide and Conquer Technique

Option A: | Bubble sort

Option B: | Modified bubble sort

Option C: | Selection sort

Option D: | Merge sort

10.

Option A: | It must cause more collisions

Which one is the most desirable out of these trarts of a hash funetron".

Option B: | It must be easy to implement -

Option C: | It must cause less collisions -

Option D: | It must occupy less space -

Q2

Solve any Four out of Six =~ 5 marks each

Define Data Structures and lrst operations of Data structures.’

Define Linear queue with its operatrons

Explain Performance Charaeterrstres of an algorrthm

Draw the Expressron tree for the followmg =(A*B) + (C/D)

Drfferentrafe between linked lrst and array‘7 ;

m|m|{O|N|w|»>

Deﬁne Hashmg and explam any Two hashmg ﬁmetlons

: Solve any Twa out of Three e 3 10 marks each

: ,Sor‘c the glven hst of numbers usmg qurck sort. Show step by step procedure

A 33,27,57,100, 12, -

B ' Wrrte a program to' 1mplement staek using array. In which specify push, pop operation
N B w1th full or empty condition.
= : Apply Huffman eodmg for the word '"MALAYALAM'. Give the Huffman code for
C

e each symbol.

Q4

A Solve any Two S marks each

[
.

Differentiate between linear search and binary scarch

ii.

What is stack and write any four applications of Stack

iil.

Explain priority queue and double ended queue.
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Solve any One 10 mark each

Explain Depth First Search technique of graph with example in detail o

il.

Write the In-order, preorder and post-order traversals for the following tree
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